
H
=

2
1

3
 cm

 87
188

7442
H

p
 =

 1
30

 cm

7442
H

p
 =

 1
30

 cm

88
177

7449
H

p
 =

 3
1 cm

5x16x25

Hbarierki=85 cm

9020
0

otw
ó

r 
10

2
/20

4

H
=

2
8

3
 cm

H
=

2
8

5
 cm

H
=

2
0

5
 cm

B
e

ton
H

=
1

3
cm

H=21cm

H=19cm

H=17cm

T
E

R
A

K
O

T
A

T
E

R
A

K
O

T
A

150
50

Hp = 177 cm

otw
ó

r 
78

/1
89

W
a

nn
a

 że
lbe

to
w

a n
a

 zb
io

rn
iki 

na
 o

le
j H=77 cm

H
=

2
9

1
 cm

P
o

sa
d

zka
 

be
t.

P
o

sa
d

zka
 

be
t.

T
E

R
A

K
O

T
A

 87
188

otwór  
95/213

P
o

sa
d

zka
 

be
t.

77
44

Hp = 200 cm

H
=

2
0

5
 cm

H=14cm

H=20cm

H=19cm

H=19cm

H=18cm

7139

H
=

1
8

5
 cm

P
o

sa
d

zka
 

be
t.

H
=

1
9

5
 cm

P
o

sa
d

zka
 

be
t.

245
181

otw
ó

r 
78

/1
66

Hp = 130 cm

78
42

H=193 cm

H=197 cm

H=209 cm

H=207 cm

9020
0

otw
ó

r 
10

1
/21

2

87
209

H=13cm

H=14cm

H=14cm

11x16x31

78
42

Hp = 130 cm

78
42

Hp = 130 cm

78
42

Hp = 130 cm

H=210 cm

H=210 cm

75
189

H=210 cm

75
189

75
189

G
M

IN
N

E
 C

E
N

T
R

U
M

  IN
T

E
G

R
A

C
JI 

M
IĘ

D
Z

Y
P

O
K

O
LE

N
IO

W
E

J W
 R

Y
B

N
IE

 - 
IN

W
E

N
T

A
R

Y
Z

A
C

JA

R
Z

U
T

 P
IW

N
IC

skala 1:100

Z
A

ŁĄ
C

Z
N

IK
 2.8

.


